H & 0l & AHS B Ml A

EPNT= PSRN,
2tel 2 2ot

2xtel ’S% ESDNL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
PSRy 3,023,461 2,949,149 74,312
= 70,000
[ 940,000
Al 1,337,594
- 675,867
cl 3% A3t 116,148 115,738 410
el #E & A 116,148 115,738 410
PN PSES T ol 8,070 7,380 690
201 2egh=3| 1,500 1,000 500
01 At2t2ltl 1,500 1,000 500
OFQAIY BX} 22F, BT T S
1,500,000& 1,500
202 04t 1,620 1,620
01 =LHOHI 1,620 1,620
OO0l 1,620,000& 1,620
203 =4l 4,950 4,760 190
03 Al =T AR =] 4,950 4,760 190
OLXIEEXE A= 990,000 990
OF QA =2(0lHMe=)
3,960,000 3,960
MBI SEES NS (HEA) 107,658 107,658 0
307 elzto| & 107,658 107,658
02 2B YAIHE £ 107,658 107,658
OXEd Alelssgs A3 AY
107,658,000 107,658
SER=2 HIERAe EA2s =4 420 700 A280
201 er=3| 420 700 A280
01 At22t2lt] 420 700 2280
O - A 2 MBS a4l
70,0003 x2E+32 420
Ot=sSH gdat 41,120 31,120 10,000
Al 20,000
- 21,120
ESSH SEdst 41,120 31,120 10,000
Al 20,000
- 21,120
OtESSH 2SI XA 41,120 31,120 10,000
Al 20,000
- 21,120
201 Ler23| 6.120 1,120 5,000
01 At2teltl 6,120 1,120 5,000
O=2g+¢ 1,120




SN ARRIZED
3. li=ssH 24st
el DiessH ggds (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olt=sSH f22 2AFS =&
70,0002 482 23] 1,120
OnISZSH %23 A3
5,000,000 5,000
307 212+01& 35,000 30,000 5,000
Al 20,000
- 15,000
02 2B A HE L 35,000 30,000 5,000
OltSZsH 2S)| 283 S2AHY
35,000,000& 35,000
Al 20,000
- 15,000
YA NEE3 HE 1,385,222 1,278,076 107,146
Al 970,094
T 415,128
AYHA & XHeXiel X 1,385,222 1,278,076 107,146
Al 970,094
- 415,128
2l X2 dE 2 28,916 25,486 3,430
201 er2 3| 21,936 19,936 2,000
01 AtR2t2|HI 12,936 10,936 2,000
Odgt+=H| 9,000
O XNEHH 23|
1,000,000& 1,000
OLXCIXNEME EE2E MH
5,000,000& 5,000
O33ZAcIANY W= 24|
3,000,000 3,000
OSEHI(AIRIEEHMIIM 0t2)
8,0002x2& +841x 123 1,536
OSAPI Xtz 200,000& x1CH* 12 2,400
03 A= SHI 9,000 9,000 0
oxEsteal M 9,000,000& 9,000
202 048l 4,800 4,800
01 2L AL 4,800 4,800
OZLHOHI (Al ERRIZIIHN OFS)
20,0002 x2E*102* 122 4,800
203 gF=4| 980 750 230
03 A=A 2= 980 750 230
OgXtel X F=QAI® =8
980,000 980
405 AtatE = 1,200 1,200
01 ML ESF SHI 1,200 1,200
Od el N2 RS Xt
1,200,000 1,200

_2_




R CIE-E b
M OEN 1223 M5
ol AR H XEeiel X EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
S3STZAY 942,716 839,000 103,716
Al 659,901
- 282,815
101 @12A4H| 934,206 830,490 103,716
Al 653,944
- 280,262
04 JIZtNZ22 XS 2+ 934,206 830,490 103,716
OSSZZAIE 0L+ 21Ad|
934,206,000 934,206
Al 653,944
- 280,262
201 er23| 3,510 3,510 0
Al 2,457
- 1,083
01 At2teltl 3,510 3,510 0
OBB2ANY =XAAS BA g
510,000 510
Al 357
- 153
OSS22AMY 82 € 29|
3,000,000 3,000
Al 2,100
T 900
206 M=l 5,000 5,000 0
Al 3,500
- 1,500
01 M=4l 5,000 5,000 0
OS2 ZAt A et 5,000,000 5,000
Al 3,500
- 1,500
KNESSHLRCIAS (HEAL) 413,590 413,590 0
Al 310,193
T 103,397
101 @124H| 406,590 406,590 0
Al 304,943
- 101,647
MU IIRINZZE2NSES 406,590 406,590 0
OXNSSSHLACIAY 0 A 12|
406,590,000 406,590
Al 304,943
- 101,647
201 =3 3,000 3,000 0
Al 2,250
T 750




A LXel™EE )

t
=
[

Hm: OlEE 1225 NE
ol ASO 2 XGLAe K&
SA BB SL(BH) - NSAY - B 0l o A
01 A22teld| 3,000 3,000
OXNESSHLEIAE 28 L 23|
3,000,000& 3,000
Al 2,250
- 750
202 04t 1,000 1,000
Al 750
- 250
01 ZLHOHI 1,000 1,000
O2204y| 1,000,000& 1,000
Al 750
- 250
206 Mzt 3,000 3,000
Al 2,250
2 750
NIEEL 3,000 3,000
ONABEMLT2IAR N7
3,000,000& 3,000
Al 2,250
- 750
A EAH 2435l 1,388,390 1,384,910
= 70,000
g 940,000
Al 347,500
- 30,890
ANSIHZH 83 XA 1,383,480 1,380,000
= 70,000
= 940,000
Al 347,500
- 25,980
AMSIEHZHIIY |4 13,480 13,000
201 Let2AY| 12,000 12,000
01 AtR2teld| 1,000 1,000
OgdBt2H| 1,000
OAMSIHZNIIE A3 W=
1,000,002 1,000
03 A2 | 11,000 11,000
ONBIRZRIIY &e IR
11,000,000 11,000
202 0441 500 500
01 ZLHOdHI 500 500
Oz 04| 500,000& 500
203 AR F=&lY| 930 500 480
03 AMIBFAHRZ=XIH| 980 500 480




2A:

EPNT= PSRN,

=

S AR EHEN -3t
CHelr AR ZEH 2438t A (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ONBIEIIY RENE FRAIH =2
980,000& 930
AN ED | LRI EHEAS 1,200,000 1,200,000 0
= 900,000
Al 300,000
307 2I2+01™ 1,200,000 1,200,000 0
= 900,000
Al 300,000
02 QB AAIEER 1,200,000 1,200,000 0
O(0lIE) AR A DI o124d| XI&
1,200,000,000& 1,200,000
iy 900,000
Al 300,000
AN EATIIY AFHINEHI(BL2) 100,000 82,000 18,000
= 70,000
Al 30,000
307 2I2+01™ 100,000 82,000 18,000
= 70,000
Al 30,000
02 QIZHBAAIEER 100,000 82,000 18,000
OAISIEZHOIE AFZDINEHI(B2)
100,000,000& 100,000
= 70,000
Al 30,000
MIED Y AlelE"=z K& 20,000 35,000 A 15,000
s 15,000
Al 5,000
307 212+01™ 20,000 35,000 A 15,000
= 15,000
Al 5,000
02 QIZHBAAIEER 20,000 35,000 A 15,000
OASIED Y AMSIEEE KIJAAE
20,000,000& 20,000
ax 15,000
Al 5,000
0218 =4 50,000 50,000 0
= 25,000
Al 12,500
- 12,500
307 2I2+01A 50,000 50,000 0
= 25,000
Al 12,500
- 12,500
02 QB AAIEER 50,000 50,000 0




2A:

EPNT= PSRN,

=

33 ARIEBN gdat
Bl ARIHBH 243 XE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
obt=21g 54 K&l 50,000,000 50,000
= 25,000
Al 12,500
- 12,500
S=M 43t 4,910 4,910 0
S=3N gdat 4,910 4,910 0
201 er23 | 4,910 4,910 0
01 At2teltl 4,910 4,910 0
(@)= st =l 4,000
Os=ZMN 2dal 822 MH S
1,000,000& 1,000
OdEs7UNA 28 2L
3,000,002 3,000
O=g+y 910
OBRANB LI 510 &HA g
70,0002 %132 13 910
A 2SIH(LRelZ ) 92,581 139,305 N6, 724
A2 (LRI Z ) 50,971 81,483 230,512
el 24| 50,971 81,483 230,512
101 @124H| 50,971 81,483 230,512
01 2= 46,574 66,198 19,624
Ozxiz=e=g 46,574
OAZtel2RL
12,3212 +35A1 2H0H + 123 46,574
02 JIEtA == 4,397 15,285 10,888
O=n=22=+2(2IIH) 4,397
OAZRIZR4S (AN 0F)
9, 1602 x20AI 228123 4,397
Jl2ddl(LXtel =) 41,610 57,822 N16,212
Jl=23H| 41,610 57,822 N16,212
201 er=23y| 14,820 20,172 Nb,352
01 AtR2t2|HI 14,820 20,172 Ab,352
OJI2At=2ell 21,000« 11E =122 2,772
O=&4 24| 100,000« 12& 1,200
o=l 8,448
OS2 SAHI
8,0003*11H+8Ax 123 8,448
O=AD| itz 200,000 «1CH* 122 2,400
202 04| 21,120 31,440 210,320
01 =LHOLI 21,120 31,440 210,320
Ot oIHI(H )
20,0002« 11H~82* 122 21,120
203 HR=H| 5,670 6.210 2540
01 D[22 HRFa| 2,970 2,970 0




2A:
PSER
o e

el

EPNT= PSRN,
Y2 FHI(LA2IZ D)
Jl=3HI(L X2l E 240t

S - BE - B9I(3H) - NRAY - BES

MEE
Ofl &k2h

SIEEEE
% PN2YYREY|

OJIEH(15Z0l35tH)

3,300,000 *90%

250,000 * 12 «90%

2,970
2,700
2,700




